Problems about two {possibly intersecting) sets name:
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1. There a?; tudents in Mr Johnson’s class = Ina]f«l@, Yo &‘f’ﬂv "“S‘J.Q

* 22 of the students have a fi . cell phone. —» 7% -22= Nnwwmboar ou Q._T.
* 10 students have both a fidget spinner and a cell phone. o (nethher
-Half of Mr Johnson’s students do not have a cell phone - \ 9 He s‘)‘kﬂlﬂ oS do have

cell Ekovul.
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2. 18 people will be eating DiZEW 10 people do not like mushrooms. 3 people like neither
mushrooms nor pepperoni. How many people like both mushrooms and pepperoni?
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3. There are 24 animals in the petting zoo.

* 10 of the animals are not small enough to pick up

o 18 of the animals are furry

* 4 animals are not furry and are not small enough to pick up.
How many animals that are small enough to pick up are not furry?



